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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
©F PPTYRI T i

(a) What is international trade?

SR ey 52

(b) What is inter-regional trade?

s qifder 2
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(2)

Write one assumption of Ricardian
theory of comparative cost.

R ST 9 g9 Bt wifere forsi |
Mention one essential element of

Heckscher-Ohlin  theory of inter-
national trade.

@R-IFE GREEy e o9nR 9ol
SR S 1 |

What is Leontief paradox?
e g 2

Define multinational enterprise.

IZEIfes Somer e far |

Mention one merit of free trade.

T TEE 9ol R Teay 791 |
What is protectionism?

SR 1 7

Define flexible exchange rate.

ARaSTNe Rt 791 ez oy |

What is foreign exchange market?

et R T &2

( Continued )

(3)

2. Answer the following questions : 2x5=10

WWWWW:

(a) Mention two differences between inter-
regional and international trade.

SIS W SB[ sk TCEs
el

(b) Write two assumptions of Heckscher-
| Ohlin theory of international trade.

ER-SRER g AW OGOR 7ol
HiSYRe Sead F9 |

(¢ What is international product cycle
theory?

FS e e 5F OGOl < 2

(d) Mention two causes for the downfall of
Bretton Woods system.

@B TTb &S e7d Fo1 I Ty 1|

(e) Whatis financial globalization.

38 e &2
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3. Answer any four of the following questions :
5x4=20

O R R e w1 T f

(@ What are the r
easo ; .
trade? Explain. Bl ormationsl

(b) Discuss the importance of Ricardian

theory Of com c
ara; : .
Countries. parative cost in developing

%mﬁw
R R P I OGN

9 Briefly explain the

: localizati
Internationa) trade ation theory of

B IR e v v

d g
(d) Dlstmguish o
Protection,

=
ﬁﬁﬁf‘wmﬁmmﬁmmmw

tween free trade and

fe) Distingl-ﬁsh

€xchange 1 between fixed and flexible

te.

[E3|
WWWWW o{1(g7 fordt |

(5)

Distinguish between tariff barriers and
non-tariff barriers.

W% RATE W ST AT A&© A1
fRefg a1 |

4. Answer any four of the following questions :

10x4=40

oo 2eaTd R e SRR e i

(@)

(b)

()

Explain the Ricardian comparative cost
theory of international trade. 10

fora STEsAEE AT LT T OG
Hean-l 941 |

Discuss the superiority of Heckscher-
Ohlin theory over Ricardian theory of
international trade. Mention the

limitations of Heckscher-Ohlin theory.
5+5=10

fReria oEEifes e ogeie R-Wfom
TEHR  CPel et 91 IR o
TEOR TRRFOPHR Tad F41 |

State and explain the technological gap
model of international trade. 10

TEEfee AR SRR Fe ogr e
9] SIF 101 40 |
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(7))

(6)
(h) Discuss the main reasons for the

(d) Critically discuss the product-cycle international financial crisis. What are

theory of international trade. 10 the various effects of international

fi ial crisis? 5+5=10
> %QOW ! o 1manci Crisis
STCATAPOICE ST < | qFEfes RS MIoT J FRPFHR S
. , R

(e) Compare the effectiveness of tariff

and quota as a weapon of trade

restrictions. 10 * k%

Jfden fFragm =ifEen ot W = o

e TrER IR e 4 |

L

(f) Analyze the effects of tariffs in a partial i

equilibrium system. 10

I SRET IREIS WH FO R 97 |
(9) How was equilibrium exchange rate

determined wunder gold standard?

Mention the reasons for the collapse of

the gold standard. 5+5=10

TS S et R 29 @EmE

FeifRe Gfe 2 wefam TaeE oo FRPR

TEd 401

24A—8000/484 3 (Sem-6/CBCS) ECO HE 2

24A/484 ( Continued )



